FISEEHIR Y = =T A% —RFHERD
FHTEEH IR T — B TR

3O A 2L - BA [mls
N
T 4=y a0 E1 04
JEAT AH=h EEIN K &1
No No K4 T & 4
1 41 THAK BeE REF @
2 42 BRI £ & REF @t
DID NOT START [1st RUN]
DID NOT FINISH [1st RUN]
DISQUALIFIED [1st RUN]
DID NOT START [2nd RUN]
DID NOT FINISH [2nd RUN]
DISQUALIFIED [2nd RUN]
ik =g EiE

25-01-11 / fEHFR A X —4

SA]J 75 L=
KA~ RAN FAULE

34.87 33.06 1:07.93 0.00
36.17 34.89 1:11.06 81.70

S9/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



FISEEHIR Y = =T A% —RFHERD
FHTEEH IR T — B TR

605k LA BB+ A Al
NN AE SR
D — T EANT—H
iz =g a—24
F5k NiE BT Wi N—
M EE R B = A Y 620m
T 4= a s 420m
P 2 200m
a— 2R E PR A 25 640m
— F3RH AN i} B RKEHE 42%
T4 =y a5 INBIE = B/ NEHE 13%
SESIRLEE 28%
1A4H 2 K H
T—REyH— E 18 a—A s — TE1E
ISR - A - FEA BalPq ISR - A - FEA BalPq
ISR - B - HE KA ISR - B - . %é
ISR - C - IR R ISR - C - IR R
iR - D - AR = ISR - D - LA %
TR 36 (34) 2K — IR 12:55 M % 36 (34) 2 — IR
KA <HD =8 VAZEN Rige <HY =8 VAZAN
AF—bF/T 4=y a R AB—bF/T 4=y v a R
F=720
NERE Ap=b =N EEHEE 1R 2A&AH & 7 1V—x
No No K4 Fr B 4 S 157 = 157 N | = 155 D N GV N
1 43 me = TR S SEMT 2 2 —3E B 57.18 53.72 1:50.90 0.00
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
B =08 Ei
25-01-11 / fEHFR A X —4 S8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



FISEEHIR Y = =T A% —RFHERD
FHTEEH IR T — B TR

505 5 1 A Al
NN AE SR
D — T EANT—H
iz =g a—24
F5k NiE BT Wi N—
M EE R B = A 2K — i 620m
T 4= a s 420m
P 2 200m
a—2RE PR A 2R 640m
A K — R VANGIN 3] BREHE 42%
EEENEY il TR B s/ VRHE 13%
SESIRLEE 28%
1A4H 2 K H
aA— ATy H— H & aA— ATy H— H B
ISR - A - FEA BalPq ISR - A - FEA BalPq
ISR - B - HE KA ISR - B - HE KA
ISR - C - IR R ISR - C - NN RE R
iR - D - AR = ISR - D - A =
TR 36(34) A K — N IREfE 12:55 TR 36(34) A K — N HEFR
KA <HY =8 VAZEN Rige <HY =8 VAZAS
AF—bF/T 4=y a R AB—bF/T 4=y v a R
F=720
NERE Ap=b =N EEHEE 1AKH 2AKH H F L—2A
No No K4 Fr B 4 S 157 = 157 N | = 155 D N GV N
1 45 A AHA L— A 39.22 35.63 1:14.85
2 46 AR FH| AN =101 39.97 36.82 1:16.79
3 47 | 7 ki T E 46.87 44.74 1:31.61
4 44 HFA i T 2 1:08.40 36.69 1:45.09
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
HfR =08 Ei

25-01-11 / fEHFR A X —4

S8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



FISEEHIR Y = =T A% —RFHERD
FHTEEH IR T — B TR

405 EE 1 A Al
NN AE SR
vall— T =N T—H
iz =g a—24
F5k NiE BT Wi N—
M EE R B = A Y 620m
T 4= a s 420m
P 2 200m
a— 2R E PR A 25 640m
— F3RH AN i} B RKEHE 42%
T4 =y a5 INBIE = B/ NEHE 13%
SESIRLEE 28%
1A4H 2 K H
aA— ATy H— H & a—AkyH— H B
ISR - A - FEA BalPq ISR - A - FEA BalPq
ISR - B - HE KA ISR - B - . %é
ISR - C - IR R ISR - C - IR R
iR - D - AR = ISR - D - LA %
TR 36 (34) 2K — IR 12:55 M % 36 (34) 2 — IR
KA <HD =8 VAZEN Rige <HY =8 VAZAN
AF—bF/T 4=y a R AB—bF/T 4=y v a R
F=720
NERE Ap=b =N EEHEE 1R 2A&AH & 7 1V—x
No No K4 Fr B 4 B R OB R B R RAU b
1 48 BRI fkth ki T E 42.24 4222 1:24.46 0.00
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 1
49 xR BIR 7S ERTR
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
R =08 FEi
25-01-11 / fEHFR A X —4; S8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



FISEEHIR Y = =T A% —RFHERD
FHTEEH IR T — B TR

3051 A Al
NN AE SR
vall— T =N T—H
iz =g a—24
F5k NiE BT Wi N—
M EE R B = A Y 620m
T 4= a s 420m
P 2 200m
a— 2R E PR A 25 640m
— F3RH AN i} B RKEHE 42%
T4 =y a5 INBIE = B/ NEHE 13%
SESIRLEE 28%
1A4H 2 K H
aA— ATy H— H & a—AkyH— H B
ISR - A - FEA BalPq ISR - A - FEA BalPq
ISR - B - HE KA ISR - B - . %é
ISR - C - IR R ISR - C - IR R
iR - D - AR = ISR - D - LA %
TR 36 (34) 2K — IR 12:55 M % 36 (34) 2 — IR
KA <HD =8 AZE Rige <HY =8 VAZAN
AF—bF/T 4=y a R AB—bF/T 4=y v a R
F=720
NERE Ap=b =N EEHEE 1R 2A&AH & 7 1V—x
No No K4 Fr B 4 S 157 = 157 N | = 155 D N GV N
1 50 rm B AHA L— A 35.08 32.33  1:07.41 0.00
DID NOT START [1st RUN] 1
51 T B 7S ElR
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
R =08 FEi
25-01-11 / fEHFR A X —4; S8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



FISEEHIR Y = =T A% —RFHERD
FHTEEH IR T — B TR

25-01-11 / fEHFR A X —4;

3O0Ek AT 1+ A Al
N FR
vall— T =N T—H
iz =g a—24
F5k NiE BT W N—
M EE R B = A Y 620m
T4 =y v o LS 420m
P 2 200m
a—2RE PR A 2R 640m
— F3RH AN i} B RKEHE 42%
T4 =y a5 INBIE = B/ NEHE 13%
SESIRLEE 28%
1 AH 2 A H
a—RAt v H— e a—RtkyH— e B
ISR - A - &AL FrPe ISR - A - &AL FrPe
ISR - B - HE KA ISR - B - MuNEE| 51%2%
ISR - C - /NS R ISR - C - IR R
iR - D - WA = ISR - D - UJ$5§
TR 36 (34) 2K — IR 12:55 M % 36 (34) 2 K — R
KA <HD =8 AZE KA <HD =8 VAZAN
AF—bF/T 4=y a R AB—bF/T 4=y v a R
F=720
JIEAE 25— =N EEHEE 1R 2A&AH & 7 1V—x
No No K4 Fr B 4 S 157 = 157 N | = 155 D N GV N
1 59 AHE S JB5 1L T 5 32.44 30.43 1:02.87 0.00
2 53 N IR fRs o7 33.49 3159 1:05.08 25.67
3 54 BT Bth JP 1L s 33.51 32.16 1:05.67  32.43
4 52 T &E B 35.19 32.91 1:08.10 60.27
5 58 = BEA B 35.52 33.98 1:09.50 76.38
6 61 Ll R fRs o7 35.65 33.86 1:09.51 76.42
7 60 B K AN A — A 36.98 33.05 1:10.03 82.38
DID NOT START [1st RUN] 2
56 Tt KB i
57 TN B KB i
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0

S8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



3B HIR Y 2 =7 A X —/PFHERD
FHTEEH IR T — B TR

307 AT 55 1~
JIEAE 25— =N EEHEE
No No K4
DID NOT START
DID NOT FINISH
DISQUALIFIED
55 A1l ERE
iz

25-01-11 / fEHFR A X —4;

[2nd RUN]
[2nd RUN]

[2nd RUN]

—g &l

roJ& 4

ATA L— A

1AH
iy fH

GATE No.

F=720
2KH & F L—=A
BE R B R AA b

17

S8/ 2

DATA PROCESSING by SE I KO

TIMING by SETKO



